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Instryctions :

(1) All questions are cnmpuhory

(i) Question Nos. 1 1g S are Objegt
Clive

type questions.

(i1i) Internal options are given i 0 * | b,
Uestio, aumbers 6 to 23.

(iv) Draw neat and clegp label}eq "H
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(iii) ey q%“ﬁ ax® +bx+e @ GTIT'?R?

(a) m%@r




Choose the correct option and write it : "{-._ W ﬁi:
(i) The time-period of famous Greek mathematician Thela& is ﬁ
(a) B. C. 640 — 546 (b) 476 — 550 B;.: C:
(c) 1777 — 1855 B. C..  (d) 770 — 850 1‘13"' Ci
(i) Distance between point P (3,2) and Q (-2,-3) is :
(a) 7.09 (approx.) (b) 7.07 (approx.)
(¢) 7.21 (approx.) (d) 1.41 (approx.)

(ili) Quadratic polynormal ax? tbx+c, the g;aph
(a) stralght line (b) parallel line
(¢) parabolas (&) curve line

(iv) The pair oi" linear equati‘m%‘s ax+by+c =

dependent and consistent, if
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Fill in the blanks :

() Quadratic formula —
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Write True / False in the following
Ll‘)

(i) The height or @g‘ﬁ af an object o
objects can bgﬁ"""._'?’




- v L - 28 § [ 2" S . Y .
4 g& AE ﬁﬁﬂfi” e

(i) sec’B-1 o a) sl

(i) tan30 = (b) el

(i) Pruds @1 %m—vr (c)

(iv) et = ST (d) tan2 0
Rs(v)  sin? 25° + cos 25° (e) 3

(vi) tan@
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Write the answer in one word / sentence of cach :
Define the point of contact in the circle.

Write the formula of finding nth
Write the statement of *“Ba;
(¥) Define *Secant line” of a circ
(vi) Write the formula of produc

ax® +bx+c.
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PE=4cm, QE=45cm, PF=8§cm, RF=9cm {'g"‘

E and F are points on the sides PQ and PR r espectively of AROR S
State whether £F || OR - when

PE=4cm, OE=4.5cm, PF= 8em, RF=9 ¢m

Vo s/ OR

AH A AR PO (| RS & o e i

APOQ ~ ASOR

Rgelt 5,7 air (1, 3) & Ay o
Find the distance petween the p
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Find the values of y for which the distance between the po
and Q (10, y) is 10 units. -J
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Find the coordinates of a point 4 where AB is the di
center is (2,-3) and coordinates of B are (1, 4).

sin 4 &Y cos A N AN T

If in fight—anglef:iriangm ABC, B =
then find the value of sin 4

HH =9 aﬁﬁ]‘({:

sin 60° cos 30° + gin 30"

Find the value of :
5in 60° cos 30° +‘gin 30°¢
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Prove that the %angﬁnts dr
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A horse is tied to a peg at one corner of g square lﬁﬁﬂped crassh
side 15m by means of a 5m long rope. Find (e gras
field in which the horse can graze.
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In a circle of radius 21 ¢m, an arc subtends an angle of 60° a1
Find the length of the arc. ' '

13 m@mﬁﬁmmm%lm.f’.
(i) 4%3&3@:{91@@%@%
() 4 9 58 wem g B9 & v

We throw a die once. Find that
(i)

'("l' T w._gl@f 2




14 ST we 5y wEd ¥7 o weN B WRE @ i e gen

What is an impossible event? What is the probability of an

event? LS
"”"1 s [ OR
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If P(E)=0.95, then what is the probability of “11 "
SRS
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5c-4y+8=0

Tx+6y-9=0
a; b ¢ s
Find the ratios —.— and —- for the following pair ¢
a bi CZ' il 2n
and say that it is cm;i;_lstem or inconsistent.
Sx—4y+8=0
Tx+ 6y-9=0
e s whewn g a
Solve the following ‘pair of linear equati
X y= 14 .
X — y= 4 '
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The angle of clevation of the top of & towe,
18 25 m away from lhE; fo01 af" .
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Find the L.C.M. and H.C.F. of 8, 9 and 25 by applying the prime fa
method.
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Prove that 7-\/5 is irrational number. : %

Check whether that x* —2x=(~

L
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The table

1100




s e (2 %) [0-20 | 20-40 | 40-60 | 6080

T 10 35 |

Lifetimes (in hours) | 0 -20 | 20— 4@

Frequency 10 250

2 Yew whE g B v @
3x+4y =10 &R 2x-2y=2

Solve the pair of linear equations

3x+4y=10 and 2x-2y=2 0
g ]' il
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A medicine capsule is in the shape of a cylinde
to each of its ends. 'f’lch length of the ent
of the capsule is 5 mm. Find the sur

A pen stand made ©

depressions to hold
by 3.5 cm. The radius
1.4 cm. Find the volum




